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Question numbers 1 to § carry 1 mark each. For each question, four alternative
choices have been provided of which only one is correct. You have to select

the correct choice.

J12 x J8 Ericea-a

(A) 26 (B) 356 € 46 D &6
V12 x J8 s equal to

Ay 246 (B) 36 Q) 46 (D) 66
) =22~ 22 x +18 A p(247) W ¥ :

(A) 0 (B) 1 ) & (D) 32+1
I p(x)=22~2y2 x +1, then p(2v2) is: ]

(A) 0 (By 1 © 4.2 (D) 342+1

TR px)=(x—1) (x+1) 3 7 2 :

(A) 2 (B) 1 (€ o (D) 4
Degree of the polynomial, plx}=(x—1)(x+1)is:
(A) 2 (B) 1 (C} 0 (D) 4

IS FEH p(x) 1 (x+3) R wm e i, B Srrwer 2 -

(A) p(-2) (B) p(2) € p(-3) @ pB)
If the polynomial p(x) is divided by (x + 3) then the remainder will be -
(4) p(-2) (B) p(2) ©  p(=3) By pB)

afe W B 5 1 A, B, sl o ¥ e
A+B=145"3R B+C=100°%, G F10 A, B,C¥ -

(A) 80°65° 35° (B) 8035, 65°

(C) 65° 80°, 35° (D)  35°65° 80°

A, B, C are the three angles of a triangle.
IfA+B=145"and B+ C=100° then angles A, B, C are :
(A) 80°,65°,35° (B)  80°,35°, 65°

(C) 65°80° 35° (D) 35° 65° 80°
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&t T S T AB=AC SR BD=CD 9l L ABD: LACD -

A
B &
(A) 1:1 (B) 1:2 © 2:1 (D) 2:3
In the given figure, AB=AC and BD=CD. The ratioc # ABD : »~ ACD is -
A
B G
(A) 1:1 (B) 1:2 @ 2:1 Dy 2:3
-3 T T e w iz &
(&) 0 ® 1 @ 2 ® -1
Ordinate of all points on the x-axis is - b
(A) 0 (B) 1 © 2 o =t
A (x+2,4)=(5,y—2) & 7 (x, y) FwH 3 .
(4) (7.12)  (B) (6,3) € (36 Dy (21
1f (x+2, 4) = (5, y—2) then the coordinates (x, y) are:
(4) (7.12)  (B) (63) © (36 @ @1
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Question numbers 9 to 14 carry 2 marks each.

o V2 =1.414 % & _ 1 & um 9w i
Jf-n—!

If JZ =1.414, find the value of — -

241
T F1 e § wEE Fie -
(-2 1]
4 2 J

b

2
5 i ]J using identity.

s
Expand @ ~



1 IS T HIN (3x+2y) (3x —2y) (922 +4y2)

/IL

Find the product of (3x +2y) (3x—2y) (922 + 442)

A fagsii A 3B & ity o fig C W v@R & 7% AC=CB 2, 91 fag =it fF
AC=%&B%’I U Ao wie w58 we Fife

If a point C lies between A and B, such that AC =CB then prove that AC = %AH

Explain by drawing the diagram.

F B ABC # sA=60°, £B=40°%, @ B &t B[ W 4o w4 9 22
39 TAT T FR0 ety

InA ABC, 2 A=60°, £ B=40°. Which side of this triangle is the smallest ? Give
reason for your answer,

FEar/ OR
T OA, OB, OC #r Op = o« fewn d 30 weR € % /AOB= ~COD=100°,

£BOC=82°, /AOD=78"% ¥ 4z 649 & ff AOC 3R BOD S @ &7 194
I T gfie Fif
B

Let OA, OB, OC and OD aln:']e rays in the anti clock wise direction, such that :
£AOB= LCOD=100° ~BOC=82° »AOQD=78"

I‘s it true that AOC and BOD are Stralght lines ?

Justify your answer.

TGS T ST F10 Hifae SEE 9T 200 m 3 T FEU 80 m E)

Find the area of a rhombus whose perimeter is 200 m and one of the diagonal is
B0 m.
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Question numbers 15 to 24 carry 3 marks each.

it i st o 3i b 91 T e ;*;ﬁ —at Tb
Find the rational numbers a and b such that 2+5ﬁ =at+J7b
2-5.J7
3Fuar/ OR
Wedd ¥9 1§ fafgo -
1218 +6/20 —6 /147 + 350
Write in the simplest form ;
1218 +620 —6 /147 +3./50 ;
4.5 %1 TS wAda w9 § 9w Fa

Find the square root of 4.5 geometrically.

Vet % i @ e i A

(2x —y+33)[¢¢x: +y2+ Oz 2~4—.’J_'J:5,r + 3yz —6zx)
Using identity find the following product :
- (2x—y+32)lc + " + 927 + 23y + 3yz — 621)

3Terar/ OR

Qﬁx—y:ZxﬁIxy=15'€i, fﬁxz+-5.r23ﬂTx3—yJi1ﬁﬁ'ﬁ1:ﬁl‘[{I

fx—y=2,and xy=15 find ¥’ +y and '~

TIFEYE FHid ST : 9" + 4y’ + 2 — 12xy +4yz —b6zx
T HA T B T x =1, y=2, T 2= ~1 &l

Factorise : 9x° + dy + 75— 12xy +dyz — bzx
Hence find value when x=1, y=2,andz=-1
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BOC=90"+ 1/ ZAEI

A

B C
In a AABC, the bisectors of £ B and ~C intersect each other at a point 0.

- a iz o
Prove that »~ BOC =90 +}/2 £ A

A
CA A LoLc =180
L0 = L Lﬁd‘ .L.-f.{"g\-"
(@] _L J_.f-‘i"l" Z-E?'A'. L{_- q{:i |
; . @*-‘-‘-‘w“ﬂr“;q . 4o
> L_E,%IC-
30X %
\Qo
Hgaar/OR = &
\3“"‘{'34; AP
ia#m:’ \ao — D-" Qo >
fa 3 AABC &1 w1 BC %1 Weg-feig D & 3~ ABD 50° &1 Afg AD=BD=CD
L AQ
2, £ ACD 7 T A E
W o x0= .
B gl @Qﬁf (¢ ¥ ‘i.ﬂﬂ"m

. ).;'L;{" q
E t = : C [ Q0 > N )\V
g‘},o =

In the given figure D is the mid point of the side BC of a AABC, and

~ ABD =50 If AD=BD=CD then find the measure of £ ACD,




In the given figure AD=AE, BD=EC, prove that AB=AC.
A

B D EC

few 7w o=t § AB||CD, £FAE=90°, ~ AFE=40°%| ~ECD 3 Hifsq 3

F

ﬂhE .LB
C D

F ; ’ :
ADLAE +B

UF Ga auer Agde & AFR F E, foE aii el 25 m R 10 m a9 3
I AT 14 m @R 13 m &1 Q9 T SFe 9 FHifem )

A field is in the shape of a trapezium, whose parallel sides are 25 m and 10 m.
The non parallel sides are 14 m and 13 m. Find the area of the field.
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Question numbers 25 to 34 carry 4 marks each.

‘Tﬁ'a+8d§b=-:%§%+gi-§- &, 1 a 3i b 3@ Hitaw | -
1fa+3fb—T e “rfmdaamib &
T <
aier@r/ OR -‘IDQ @“
2]
ﬂ%z=3+2ﬁ%,a’rx3+.%ﬂmaﬂﬁm ,L}’jﬁ_ e

1
If x=3+ 22 find the value og x + —5
.
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16 ) [S'J

2572

(&

Find the value of -

B-l'\"}i
— | x
(16

B

G

-

9a*—27a?— 100a + 300 ] UFETE FIfAU Taleh T [UHEEE 3a +10 &1
Factorise : 9a3—27a2 —100a + 300, if 3a + 10 is one of its factor.

FET a3 —3x244 3 20 —5x+a F x—2 § AW 27 W WNFA FHE: p 30 q F
A p—2q=4 &, T a =1 7F T4 FFw|
The polynomials ax®—3x2+ 4 and 2x3—5x +a when divided by x—2, leaves the

remainders p and q respectively. If p—2q=4 find the value of a. @ o e

afg a=5+2.6 @tb:l%, Eﬁa2+b23ﬂ1a3+b33ﬁﬁﬁﬂ;ll
a

Ifa=5+26 and b= thenwhatwillbe fic valie ofrbia st b
a

&l 71§ wferent | fag A, B, C, D sTeifEa #ifaw

fifg A B C D
’71’ 7 455 |13 | =%
b 10 | 138 | -5 | —16
FreAferfian v ¥ Ser S -

(a) foige A, B, C sk D ¥ Frdwiw fafew
(b) 99 ABC Fi ifeha wifamy

Plot the points A, B, C, D from the table :

Points A B C D
x 7 -5 13 -4
B 10 13 -5 | —15

and answer the following :

(@)
(b)

Write the coordinates of A, B, C, D.
Shade the triangle ABC.
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;1- few ==t 4, &t e vand pQ 3 RS fig O v wfi=ds s €1 3t LPOT=75°
&, ?ﬁa,b.cm?ﬁ'ﬁﬂl

In the given figure, two straight lines PQ and RS intersect each other at O. If
£ POT =75 find the valuesof a, b, c.

ﬁz T =gYS ABCD F &) a7 Uil A ofR D F wafguss w09 AP 3R Dp £

HfT fF 2 2APD= /B+ 2 C &I
D

C

A B
in the given figure, AP and DF are bisectors of two adjacent angles A and D of
quadrilateral ABCD. Prove that2- APD= B+ 2C.
: D

C

A B

aran/ OR
AABC ¥ AB=AC, £ A=36" 3R 3fa: ~C = wafgwsis, AB &1 D W faean 21
fag wifse 5 AD=BC %1

In AABC, AB=AC, ~A=36° The internal bisector of £C meets AB at D.

Prove that AD=BC. X:'_



AABC & "itvasr AD 2, 41 fag Fifau fis
AB+AC>2ADE)

If AD is the median of AABC,
Prove that AB+ AC > 2 AD.

few T fe § AE=AD 3t BD=CE &1 faz #ifow 55 A AEB=A ADC 21
A

™
(w

€ B
In the given figure AE=AD and BD=CE. Prove that AAEB=AADC.
A

m
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